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OUTLINE QUIZ 1
1. _____ are biotic factors or abiotic factors that keep a population from continuing to increase indefinitely.

2. _____ growth occurs when the growth rate is proportional to the size of the population.

3. _____ is the maximum number of individuals in a species that an environment can support for the long term.

4. ___a__ describes the number of individuals moving INTO a population, whereas __b___ describes the number of individuals moving AWAY FROM a population.

5. A fire destroying many trees in a pine forest community is an example of a density _____ factor.

6. A population stops increasing when the number of births is __a___ than the number of deaths or when emigration __b___ immigration.

7. A species might not be able to expand its population range become it cannot survive the __a___ conditions found in the expanded region, such as the temperature range, humidity level, annual rainfall, or sunlight – or the __b___ factors that present threats, such as predators, competitors, or parasites.

8. A(n) __a___ shaped growth curve illustrates exponential growth; a(n) __b___ shaped curve is typical of logistic growth.

9. A(n) __a___ strategist is generally a small organism; a(n) __b___ strategist is generally a larger organism.

10. A(n) __a___ strategist is usually controlled by density independent factors ; a(n) __b___ strategist is usually controlled by density dependent factors.

11. A(n) __a___ strategist usually has a long live span; a(n) __b___ strategist usually has a short life span.

12. A(n) __a___ strategist usually produces few offspring; a(n) __b___ strategist usually produces many offspring.

13. All populations grow exponentially until some _____ slows the population’s growth.

14. Both plants and animals are placed into groups based on their reproductive factors – one group is known as  __a___ strategists and the other as __b___ strategists.

15. Density __a___ factors are usually ABIOTIC factors, whereas density __b___ factors are often BIOTIC factors.

16. Disease, competition, and parasites are all examples of density _____ factors.

17. Dispersion is the _____ of a population within an area.

18. Drought, flooding, extreme heat or cold, tornadoes, and hurricanes are all examples of density _____ factors.

19. Even in the lag phase of the exponential growth model, the use of available resources is exponential – because of this, the resources soon become limited and the population growth _____.

20. If a population exceeds the carrying capacity, __a___ outnumber __b___ because adequate resources are not available to support all of the individuals.

21. In most instances, __a___ is about equal to __b___, so __c___ and __d___ usually are the most important in determining the population growth rate.

22. In the exponential growth model, the slow growth period is defined as the _____.

23. Logistic growth levels off at the line on the graph identified as the _____.

24. Logistic growth occurs when the population’s growth __a___ following exponential growth, at the population’s __b___.

25. One of the primary factors in the pattern of dispersion for all organisms is ______.

26. Population density is the __a___  per __b___.

27. Populations of species are described by __a___, ___b__, and __c___.

28. The _____ explains how fast a population grows.

29. The _____ growth model shows how a population would grow if there were no limits placed on it by the environment.

30. The __a___ (or __b___) strategy is an adaptation for living in fairly predictable environments; the __c___ (or _d___) strategy is an adaptation for living in an environment where fluctuation in biotic or abiotic factors occur.

31. The _a___ of a population is the birthrate, or the number of individuals born in a given time period; the __b___ of a population is the number of deaths that occur in a population during a given time period.

32. The Hawaiian honeycreeper is found only on some of the islands of Hawaii – it has a very limited _____.

33. The predation of moose by wolves is an example of a density _____ factor.

34. The reproductive strategy of a(n) __a___ strategist is to produce as many offspring as possible in a short time period and expend little or no energy in raising their young to adulthood; reproductive strategy of a(n) __b___ strategist is to produce only a few offspring that have a better chance of living to reproductive age because of the energy, resources, and time invested in the care for the young.

35. The three main types of dispersion are __a___, __b___, and __c___.

36. There are two categories of limiting factors: __a___ factors are environmental factors that depend on the number of members in a population per unit area and __b___ factors are environmental factors that do NOT depend on the number of members in a population per unit area.

37. Three birds per square meter describes the _____ of the birds.

38. When a population develops in an environment with plentiful resources, there are __a___ births than deaths and the population soon reaches or passes the __b___.

